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41- The Himalayas consist of ______ main parallel ranges from north to south 

 A.Two 

 B.Three 

 C.Four 

 D.Five 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  B (Three) 

42- The largest union territory of India is- 

 A.Chandigarh 

 B.Pondecherry 

 C.Andaman & Nicobar 

 D.Lakshadweep 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  C (Andaman & Nicobar) 

43- Banihal pass in 

 A.Punjab Himalayas 

 B.Kumaon Himalayas 

 C.Kashmir Himalayas 

 D.Assam Himalayas 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  C (Kashmir Himalayas) 

44- Nanda Devi lies in 

 A.Kumaon Himalayas 

 B.Kashmir Himalayas 

 C.Naga hills 

 D.Himachal Himalayas 

 E.None of these 

View Answer (-) 
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Answer & Explanation 
Answer  -  A (Kumaon Himalayas) 

45- Which of the following regions has the oldest rocks? 

 A.Himalayas 

 B.Aravalli 

 C.Indo-gangetic plain 

 D.Siwalik 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  B (Aravalli) 

46- Pir Panjal range is in 

 A.The greater Himalayas 

 B.The middle Himalayas 

 C.Siwalik 

 D.Sikkim Himalayas 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  A (The greater Himalayas) 

47- The average height of Siwalik of 

 A.1500 to 2000 meter 

 B.1000 to 1500 meter 

 C.700 to 1000 meter 

 D.500 to 700 meter 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  A (1500 to 2000 meter) 

48- Which one of the following state has the longest coastline? 

 A.Maharashtra 

 B.Tamil Nadu 

 C.Gujarat 

 D.Andhra Pradesh 
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 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  C (Gujarat) 

49- How many island of India are located in the Bay of Bengal 

 A.190 

 B.204 

 C.300 

 D.310 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  B (204) 

50- Shivasamudram Falls is found in the course of river 

 A.Krishna 

 B.Godavari 

 C.Cauvery 

 D.Mahanadi 

 E.None of these 

View Answer (-) 
Answer & Explanation 
Answer  -  C (Cauvery) 
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